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PROCEDURE POSITION;

IT IS ASSUMED THAT BLOCKCOUNT >= ¢,

THE PROCEDURE TEST THAT THE BLOCK IS WITHIN THE DISC LIMIT,
IF THE POSITION > DISCSIZE THEN STATUS(POSITION ERROR),

IF THE POSTION >= DISC SIZE THEN STATUS(END MEDIUM).

AC CALL RETURN
0 - DESTROYED
1 - SOFTSTATUS
2 CUR CUR
3 L INK DESTROYED
FDBLOCK,CUR BLOCKCOUNT IF OUTSIDE DISC, THEN 2002

ELSE BLOCKCOUNT

WA WA MR WA WA B WE NS MG WS NI WE wR Ma we NE ws s

TRACK,CUR OLD TRACK NO, NEW TRACK NO,
SECTOR,CUR - SECTOR
RETURN: LINK + 03 NORMAL:
GIVEUP ¢ HARD ERROR; ADDR, OUTSIDE TABLE OR DISC;
; BEGIN POSITION;
POLINK,2 7
FDBLOCK,2 3 GETPOSITION;
.2002 H
00012'116032 ADCZ# r3 s7ZC 7 IF pOSITION >= DIsC SIZE THEN
00013000412 JMP POSOS H BEGIN END MEDIUM;
00014'024114 LDA 1 SEM ; IF POSITION = DISCSIZE THEN
00015116404 SuB 0,3 SZR H STATUSCEND MEDIUM) ELSF
Q0016'0244kp LDA 1 POSERROR 7 STATUSC(END MEDIUM,pOSITION);
00017'004478 JSR LOGOR H
00020'020456 LDA 0 .2002 ;
000211025044 LDA 1 SLICE,2 ; LOGICAL BLOCK NO.:=
00022'006177 DIVIDE H DISCSIZE//SLICESIZE;
00023'041042 STA 0 BLOCK,?2 ;
00024'002455 JMPe .GIVEUP H RETURN(GIVEUP):

END END MEDIUM?

CALCULATE THE PHYSICAL TRACK AND SECTOR NUMBER;
ENTRY:AC0=BLOCK NO,; EXIT:ACo:=TRACK NO,,SECTOR,CUR:z=SECTOR;

e ne

0251025036 POS0S5:1L.DA 1 FOMODE,2  IF MODE=

026'034116 LL.DA 3 .1B13 H PHYSICAL POSITION THEN
00027137404 AND 1,3 SZR H
p0030'0004d06 JMp pPOsS10 H BEGIN !pHYSICAL!
000311024444 LDA 1 P0S26 ;
00032'006177 DIVIDE H NEWTRACK:=(BLOCK//26);
00033'175400 INC 3,3 ;
0003411055040 STA 3 SECTOR,2 7 SECTOR:=(BLOCK MOD 26) + 1}
000351000413 JMP POS1t ; END !PHYSICAL!;
000351024124 POS10:LDA 1 - POSN ; ELSE
00037'006176 MULTIPLY ; BEGIN !LOGICAL!
000407121400 INC 1,0 ;
000411024434 L.DA 1 P0s2é6 H SECTOR:=
00042'006177 DIVIDE H (BLOCK%«N + 1) MOD 267
000431175005 MOV 3,3 SNR ; IF SECTOR = 0 THEN
000441034431 LDA 3 p0s26 ; SECTOR?= 267
000451055040 STA 3 SECTOR,2 ;
00046'021043 LDA 0 FDBLOCK,2 ? NEWTRACK:= BLOCK//267
00047'006177 DIVIDE ; END ILOGICAL!;

|
|
|
{

000000 FDPOSITION:
0071055050 STA 3
010'021043 LDA 0

00011'034465 LDA 3
0
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000501025041
00051'041041
00052'106415
00053'000412
00054125414
000551000405
00056'020107
00057'004423
00060'004443
000611021041
00062'024415
000631123000

0641004416

nes'o24a412
00066'021041
00067'123000
00070'025055
060711122400
00072'005073
00073'004430
00074'003050

000751000032
00076'003722
000124

000107
000771001400
‘100'000030

00101'000372!

AJUST THE HEAD TO THE CALCULATED TRACKNUMBER,

IF THE QLD TRACK NO,

TO TRACKOO FIRST,

IS UNDEFINED,

THE HEAD 1S POSITIONED

WHEN THE HEAD IS POSITIONED THE TRACK REGISTER IN THE
THIS IS NESSESARY WHEN DEALING

WITH DISKETTES WRITTEN BY FOREIGN COMPAGNIES (I,E,

USING DELETED TRACKS.
NORMALY THE TRACK REGISTER
0s11:LDA 1 TRACK, 2
STA 0 TRACK, 2
SUB# 0,1 SNPR
JMP P0S20
INCH 1,1 SZR
JMP P0OS16
LDA 0 RECAL
JSR FDEXECUTE
JSR STACHECK
L.DA 0 TRACK, 2
P0OS16:LDA 1 TRSEACH
ADD 1,0
JSR FRDEXECUTE
P0OS20:LDA 1 TRSEARCH
LDA 0 TRACK, 2
ADD 1,0
LDA 1 FDDIsP,2
SUR 1,0
J8R I0SPEC, 2
JSR STACHECK
JMpe POLLINK,?2
¢ CONSTANT:
P0OS26: 26
.2002¢ 2002
«-POSN= o7
RECAL= . 1B6
TRSEACH: 3R7
POSERROR? 1B11+1B12
; STEPPING STONE NO, 2@
L.GIVEUP:? GIVEUP

H
;
;
i
; CONTROLLER IS REDEFINED,
H
;
P

W|E WA NS WP WP WL NE M WME AB NE W W WA s we

NS wS M4 WP A uw

. W

LTI P

“e wR e

e

I18M)
REMAINS ITS CONTENT,

BEGIN HEAD AJUSTMENT;
OLDTRACK:=TRACK; TRACK:=NEWTRACK?}
IF OLDTRACK=TRACK THEN

GOTO REDEFINE TRACK ADDRESS?

IF OLDTRACK=UNDEFINED THEN
BEGIN RECALIBRATION;
RECALIBRATE(DEVICE)?
TEST STATUS(DEVICE);
END RECALIBRATION;
SEARCH TRACK:

SEARCH TRACK(DEVICE,TRACK NO,)?
REDEFINE TRACK ADDRESS:
COMMAND: =
TRACKSEARCH < 8 + TRACK NO.?/
COMMAND: =
COMMAND =~ DISPLACEMENT,.CUR;
REDEFINE TRACK ADDR(DEV,COMMAND);
TEST STATUS(DEVICE)?:
END HEAD AJUSTMENT;
END POSITION;

NO OF SECTORS PER TRACK?

DISC SIZE:

N (EACH N'TH SECTOR IS USED)
kxxkkkkk ODD ONLY %xxxkx%k

RECALIBRATION COMMAND;:

TRACK SEARCH COMMAND;
STATUS(END MEDIUM,POSITION)?

RETURN ANSWER(BYTECOUNT:= 0):?
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PROCEDURE EXECUTE COMMAND;

STARTS THE DEVICE ACCORDING TO THE COMMAND}

THEN IT WAITS FOR INTERRUPT: MAX, WAIT TIME IS 2,4 SEC,;

ENTRY FDEXE:

H
;
;
;
;
; AC CALL RETURN
; 0 COMMAND COMMAND
; 1 - ADDR, OF DEVICE NO,
; 2 CUR CUR
; 3 LINK CUR
; FDCOMMAND,CUR - COMMAND
4

000000 FDEXFCUTE: ; BEGIN EXECUTE COMMAND;

001021041037 STA 0 FDCOM, 2 ;

00103'055024 STA 3 SAVE,?2 ; ENTRY FDEXECUTE + 1

001041025035 L.DA 1 DEVICE,2 ;

00105'006170 SETINTERRUPT ? SETINTERRUPT(DEVICE.CUR)?

001061021037 LDA 0 FDCOM,?2 ;

001071005056 JSR 10D0OAS,2 ; START DEVICE(COMMAND);
1101030141 LDA 2 .120 3 TIMER:= 120 PERIODS = 2,4SEC,}
1117006003 WAITINTERRUPT 7 WAITINTERRUPT(DEVICE.CUR,DELAY);

00112'000442 JMp FOTIMER $+40¢: TIME OUT?® STATUS(TIMER);

001131003024 JMPe SAVE,2 s+1: INT, REC,?

; END EXECUTE COMMAND;
; PROCFDURE LOGOR;
: COMPUTES THE LOGICAL OR BETWEEN THE CONTENT OF AC1 AND THE
; SOFTWARE STATUS AND PLACES THE RESULT IN THE STATUS WORD:
14
7 ENTRY LOGOR:
i - AC CALL RETURN
; 0 - UNCHANGED
; 1 WORD 1 STATUS WORD
; 2 CUR CUR
H 3 LINK L INK
14
00114'031034 LOGOR:LDA 2 FDSOFT,2 7 BFEGIN LOGICAL OR;

1151150000 COoM 2,2 ;7 SOFTSTATUS:=

WD116'147400 AND 2,1 ; SOFTSTATUS QR WORD1:;

00117'146000 ADC 2,1 ;| AS IN =HOW TO USE THEee.™ !}

00120'030040 LDA 2 CUR ; '

001211045034 STA 1 FDSOFT,2

r

00122001400 JMP +0,3 END LOGICAL OR;
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PROCEDURE TEST STATUS;
THE DEVICE IS SENSED AND THE RECEIVING STATUS IS TESTED FOR:
1. HARD ERRORS (DISCONNECTED, OFF LINE, TIMER) =>
POSITION:= UNDEFINED AND THE ANSWER IS RETURNED;
2. TRACK ADDRESS ERROR (POSITION ERROR) =>
POSTTION:= UNDEFINED AND IF LAST COMMAND <> READ BLOCK
THEN RETURN ANSWER;
3. ADDRESS FIELD ERROR (PARITY ERROR ON ADDRESS FIELD) =»>
STATUS(PARITY):= 1, POSITION:= UNDEFINED AND IF THE
LAST COMMAND <> READ BLOCK THEN RETURN ANSWER;
ENTRY STACHECK:

AC CaLL RETURN
0 - DESTROYED
1 - STATUS
2 IF LAST COMMAND= READ BLOCK THEN CUR
-13
3 LINK DESTROYED

RETURN: LINK: NO HARD ERRORS
GIVEUP: HARD ERROR

/) N0 ME RS MR WS MI HE R WS RS WS NS RS NG B WS WS N WS

000000 STACHECK: ; REGIN PROCEDURE TEST STATUS;
00123'141000 MOV 2,0 :
00124'030040 LDA 2 CUR ;
’125'oa105a STA 0 RESEM,2 ; SAVE COMMAND SPECIFICATION;
01261055051 STA 3 STALINK,2
00127'005071 JSR IODIA,2 ; NEW:= SENSE(DEVICE):
00130'034433 ILDA 3 HMASK 7 IF NEW(DISCON,OFF LINE,TIMER)
001317137404 AND 1,3 SZR ; <> 0 THEN
001321000424 JMP HARD1 3 GOTO HARD ERROR;
00133'034115 I.DA 3 .1B12 :
001341137404 , AND 1,3 SZR ;5 IF NEW(TRACK ERROR) = 1 THEN
00135'004411 JSR STAS 3 GO/NO=GO WRITE BLOCK;
001361004756 JSR LOGOR : STATUS:= STATUS OR NEW;
00137'034104 LDA 3 SDEV1 : IF STATUSCADDR, FIELD ERROR)= |
001401137405 AND 1,3 SNR : THEN
001411000404 JMp STA1 ; BEGIN ADDRESS ERROR:?
001421024113 LDA 1 SPARITY ; STATUS:= STATUS OR PARITY;
001431004751 JSR LOGOR : GO/NO=GO(WRITE BLOCK);
001441004402 JSR STAS H END ADDRESS ERROR}
00145'003051 STAl: JMPe STALINK,2 3 RETURN(LINK):
’
00146'102000 STAS: ADC 0,0 ; GO/NO=GO:
g?1a7'oa1ou1 STA 0  TRACK,2 ¢+ POSITION:= UNDEFINED;
1501021054 LDA 0 RESEM,2 ; IF COMMAND <> READ BLOCK THEN
00151'101404 INC 0,0 SZR :
00152'000403 JMp HARD?2 ; GOTO NO=GO ELSE
001531001400 JMP +0,3 : RETURN(GO);
000000 FDTIMER: ; TIMEOUT: SOFTWARE TIMER ENTRY?
001541024117 LDA 1 L1B14 ; STATUS:= TIMER;
00155'135000 HARD2 :MQV 1,3 7 NO=GOD:
001561102000 HARD1:ADC 0,0 3 HARD ERROR:
00157'041041 STA 0  TRACK,?2 : POSITION:= UNDEFINED;
001601055034 STA 3 FDSOFT,? ?
00161'005075 JSR 10CLEAR,2 : CLEAR, PULSE(DEVICE);
001621002717 JMPa LGIVEUP : RETURN(GIVEUP(RETURN ANSWER)):
00163'140002 HMASK: 1B0+1B1+1B14 HARD ERROR MASK;

e a®

END PROCEDURE TEST STATUS;
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PROCEDURE READBLOCK(BLOCK,SLICE)?

THE DISC IS POSITIONED ACCORDING TO THE BLOCK AND SLICESIZE.
THEN THE POSITIONED SECTOR IS READ TO THE HARDWARE BUFFER

IN THE CONTROLLER AND THE FIELD SYNC, BYTE IS TESTED, IF IT
I8 UNDEFINED THE STATUS(PARITY) IS SET BUT THE READING
CONTINUES. IF THE FIELD SYNC. BYTE IS EQUAL TO "DELETED"
SECTOR THEN THE STATUS(BLOCK SKIPPED) IS SET AND IF THE READ-
MODE= "NON SKIP BLOCK" THE READING IS CONTINUED ELSE THE NEXT
BLOCK IS READ (NOTE THAT THE WHOLE SLICE IS SKIPPED).

NOW THE DATA ARE DELIVERED TO THE ADDRESSED SHARE AND THE
NEXT SECTOR IN THE SLICE IS READ AS DESCRIBED ABOVE UNTIL

THE SLLICE SIZE 18 REACHED,

IF DESCRIPANCIES ARE SENSED BETWEEN THE EXPECTED AND THE READ
ADDRESS FIELD, THE STATUS(PNSITION) IS SET, BUT THE

SECTOR DATA IS DELIVERED AND THE READING IS CONTINUED.

ENTRY READB:

O ™ "t mE NS NE NS NS NS NS WO NE NE NS M NG WS NS WS NG e We W NS

AC CALL RETURN
0 - DESTROYED
. 1 - SOFTWARE STATUS
2 CUR CUR
3 LINK DESTROYED
000000 EADBLOCK: ; BEGIN READ RLOCK;
001641055053 STA 3 RELINK,2
00165'004463 RBOO: JSR ISLICE 7 INIT SLICE:
00166'004443 RBO5: JSR I.READ 7 INIT READ;

; THE CONTENT OF THE ADDRESSED BLOCK IS NOW IN THE CONTROLLER
; BUFFER AND THE NEXT PIECE OF CODE FETCHES AND DELIVERS THE
; DATA TO THE ADDRESSED SHARE IN THE CORE,

00167'005064 JSR IoDIC,2 5 GET(DEVICE,TRACK<8 + SYNC, BYTE);:
001701034143 LDA 3 . 255 ¢ MASKOUT(SYNC, BYTE);

00171'163400 AND 3,0 ; | THE CUR, TRACK SENSED IS NOT
00172'034547 LDA 3 FDFB ; USED IN THIS DRIVER !
00173116405 SuUB 0,3 SNR 7 IF SYNC. BYTE = HEX(FB) THEN
00174r'000412 JMP RB22 H GOTO GETBYTE?

q17‘3'03&5ﬂ3 LDA 3 FDF8 ;

176'116404 SUB 0,3 SZR 7 TF SYNC. BYTE <> HEX(F8) THEN
00177'000422 JMp RB26 ; GOTO UNDEFINED FIELD ELSE
002001024105 LDA 1 SDEVZ2 7 SKIPBLOCK:

00201'004713 JSR LOGOR H STATUUS:= STATUS OR SKIPBLOCK?
00202'025036 LDA 1 FOMODE,2

00203'034117 LDA 3 .1B14 H

002041137405 AND 1,3 SNR 7 IF OPERATION=NORMAL (SKIPBLOCK)
00205'000417 JMP RB30 ; THEN GOTO RETURN(LINK) ELSE
00206'005067 RB22: JSR I10DIB,2 7 GETBYTE: CHAR:= BYTE(DEVICE,COUNT);
00207'006173 CONBYTE 7 CONCHAR:=

002101025026 LDA 1 ADDRESS,2 CONBYTE (CONV,CHAR)?
00211'006175 PUTBYTE 7 PUTBYTE(ADDRESS,CONCHAR);
00212'011026 152z ADDRESS,2 7 ADDRESS:= ADDRESS + 1;
00213'015027 Dsz COUNT,2 7 COUNT:= COUNT =~ 13

002141000772 JMP RB22 7 IF COUNT <> 0 THEN GETBYTE:
00215'004706 RB24s: JSR STACHECK 3 RETURN(LINK): TEST STATUS(DEVICE);
00216'004444 J8R T.SLICE 7 TEST SLICE COUNT?

00217'000747 JMp RBOS 7+02: NOT FINISHED?

00220'003053 JMPe@ RELINK,2 7+1: SLICE READ: RETURN(LINK)?
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00221'024113 RB26t LDA 1 SPARITY 7 UNDEFINED FIELD:
00222'004672 JSR LOGOR 7 STATUS:= STATUS OR PARITY;
00223'000763 JMP RB22 ¢ GOTO GETBYTE:
00224'035025 RB30: LDA 3 BUF,2 ;7 SKIP BLOCK:
00225'035410 LDA 3 MESS2,3 7 BYTECOUNT:= 03
00226'055026 STA 3 ADDRESS,2 ¢ ! ADDRESS,CUR:= MESS2,BUF !
00227'011042 187 BLOCK, 2 ;7 UPSPACE BLOCK;
00230'000735 JMpP RBOO ;7 READBLOCK(BLOCK,SLICE)?

’

END READ BLOCK;

PROCEDURE INIT READ;

THE PROCEDURE INITIATES THE SLICE COUNT, SETS THE POSITION
OF THE DISC, READ IN THE ADDRESSED SECTOR AND

TESTS THE STATUS,

-8 ™o

ENTRY I,.READ:

K
3
;  AC CALL RETURN
;0 - DESTROYED
: - STATUS
;2 CUR CUR
o ;3 LINK DESTROYED
14
000000 I.READ: ; BEGIN INIT READ;
002311055046 STA 3 I.TLINK,2 ;
00232'004425 JSR I.COUNT 3 INIT COUNT, SETPOSITION;
202331021040 LDA 0 SECTUR,2
902341004646 JSR FDEXECUTE 3 READ BLOCK(SECTOR):
002351152000 ADC 2,2 ; COMMAND SPFC,:= READ BLOCK;
00236'0046A5 JSR STACHECK ; TEST STATUS(COMMAND SPEC.)?
00237'003046 JMPe I.TLINK,2 7 END INIT READ:
; PROCEDURE INIT WRITE:
; FIRST IT SETS THE DATA FIELD SYNC. BYTE IN THE CONTROLLER,
: NEXT SECTOR IS WRITTEN AND THE STATUS IS TESTED,
¢ ENTRY I,.WRITE:
:  AC CALL RETURN
: 0 FIELD SYNC. BYTE DESTROYED
. P - STATUS
' ;2 CUR CUR
3 3 LINK DESTROYED
’
000000 I.WRITE: ; BEGIN INIT WRITE;
002401055046 STA 3 I.TLINK,2 :
002411005062 JSR 10D0C,2 ; OUTCHAR(DATA FIELD SYNC, BYTE);
002421020110 LDA 0  WRITE ; COMMAND:=z
002431025040 LDA 1 SECTOR,2 WRITE + SECTOR:
002441123000 ADD 1,0 ;
00245'004635 JSR FDEXECUTE ; 0NUTPUT SECTOR(COMMAND);
00246'004655 JSR STACHECK ; TEST STATUS:
00247'003046 JMPe I.TLINK,2 3 END INIT WRITE;

000110 WRITE= .187 ; WRITE RECORD;
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PROCEDURE INIT SLICE COUNT;
THE SLICE COUNTER:= SLICE SIZE AND THE PHYSICAL BLOCK N0, IS

;
7 CALCULATED,
L4
7 ENTRY ISLICE:
i AC CALL RETURN
;0 - ZEROD
L | - PHYSICAL RLOCKCOUNT
72 CUR CUR
P03 LINK DESTROYFD
000000 ISLICE: ;7 BEGIN INIT SLICE COUNT;
002501055047 STA 3 I.SLINK,2 §
002511021044 LDA 0 SLICE,2 7 SLICE COUNT:=
00252'041045 STA 0 FOSLICE,2 ; SLICE SIZE:;
002531025042 LLDA i BLOCK,2 ;
002541006176 MULTIPLY ¢ PHYSICAL BLOCK:=
00255'045043 STA 1 FDBLOCK,2 ; LOGICAL BLOCK x SLICESIZE;
00256'003047 JMPe@ I.SLINK,2 3 END INIT SLICE COUNT;
. 5 PROCEDURE INITCOUNT;
: PRESETS THE BYTECOUNT VALUE TO 128
: AND CALL THE PROCEDURE POSITION,
’
7 ENTRY T,COUNT:
7 AC CalLL RETURN
0 - DESTROYED
| - STATUS
;e CUR CUR
i3 LINK DESTROYED
000000 I.COUNT: 7 BEGIN INITCOUNT;
00257'020111 LDA 0 .128 H
00260'041027 STA 0 COUNT,2 ¢ COUNT.CUR:= 1283
00261'002455 JMPe .POSITION; SETPOSITION(FDBLOCK);
; END INITCOUNT?
;7 PROCEDURE TESTY SLICE SIZE;
" 7 INCREASES THE PHYSICAL BLOCKCOUNT AND DECREASES THE
¢ SLICECOUNT, IF THE SLICECOUNT GOES TO ZERO THE LOGICAL
: BLOCK NUMBER IS INCREASED.,
r
; ENTRY T.SLICE:
¢ AC CALL RETURN
;0 - UNCHANGED
Pl - UNCHANGED
P2 CUR CUR
P33 L INK LINK
7 RETURN: LINK 4+ 0: SLICECOUNT <> 0,
; LINK ¢ 1+ SLICECOUNT = 07
000000 T.SLICE: ;7 BEGIN TEST SLICE SIZE?
002621011043 187 FDBLOCK,2 7 PHYSICAL BLOCK + 17
00263'015045 DY FDSLICE,2 7 SLICECOUNT = 17
00264'001400 JMP +0,3 7 TIF SLICECOUNT<>0 THEN RETURNCLINK)}
00265011042 Is7 BLOCK,2 7 SLICECOUNT=0: LOGICAL BLOCK + 17
00266'001401 JMP +1,3 7 RETURN(CLINK+1):
4

END TEST SLICE SIZE:
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PROCEDURE WRITE/READ BLOCK:

FIRST THE PROCEDURE WRITE NORMAL IS CALLED TO WRITE THE
ADDRESSED SHARE,

NEXT THE BLOCK IS READ BACK TO THE CONTROLLER BUFFER
BUT ONLY THE STATUS INFORMATION TS USED;

ENTRY WRCHECK:

™S MB WS WS A WS WE NE WA WS W N8 wa

AC CALL RETURN
0 - PESTROYED
1 ‘ - STATUS
2 CUR CUR
3 LINK DESTROYED
000000 WRCHECK: 3 BEGIN PROCEPURE WRITE/READ BLOCK;
002671055053 STA 3 RELINK,2 ;
00270'004416 JSR WRNORMAL ; WRITE BLOCK NORMAL;
00271'015042 nSZ BLOCK,2 7 BACKSPACE BLOCK:
002721000401 IMp o+l ;
002731004755 JSR ISLICE ; INIT SLICE COUNT;
00274'004735 WRCOS:JSR I.READ 7 INIT READ;
002751004765 JSR T.SLICE 5 TEST SLICE COUNT;
002761000776 IMp WRCOS ;402 NOT FINISHED:
@:77'003053 IMPe@ RELINK,2 3+1: END PRNCEDURE WRITE/READ BLOCK;

PROCEDUKE ERASE(BLOCK):

THE PROCEDURE WRITES THE "DELETE"™ CHARACTER IN FRONT OF THE
DATA FIELD OF THE FIRST SECTOR OF THE SLICE FOLLOWED BY
UNDEFINED DATA, AT EXIT THE BLOCKCOUNT IS INCREASED,

ENTRY WRERASE:

.
’
.
I4
-
’
L]
r
.
’
*
’
L3
’
P0
.
’
-
14
.
’
b3
4
W

AC CALL RETURN
- DESTROYED
1 - STATUS
2 CUR CUR
3 LINK DESTROYED
‘ 0nQonoo RERASE: i BEGIN ERASE?
00300'05505¢2 STA 3 WRLINK,2 7
00301'004747 JSR ISLICE 7 INIT SLICE COUNT:
00302'020436 LDA 0 FDF8 7 WRITE(FDF8,DUMMY,DATA)?
3037004735 JSR I.WRITE ;
70304011042 187 BLOCK,2 7 UPSPACE BLOCK;
r

00305'00305¢2 JMPe WRLINK,?2 END ERASE;
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; PROCEDURE WRITE BLOCK NORMAL:
; FIRST THE HEADS ARE POSITIONED, THEN IT CALLS THE PROC,
# OUTCHAR, WITH DATA FIELD SYNC, BYTE = HEX(FB), THEN IT
7 WRITES THE BLOCK ON THE POSITIONED SECTOR AND TEST STATUS?
’
¢ ENTRY WRNORMAL:
; AC CALL RETURN
; 0 - DESTROYED
; 1 - SOFTWARE STATUS
; 2 CUR CUR
: 3 LINK DESTROYED
14
000000 WRNORMAL: ; BEGIN PROCEDURE WRITE?
003061055052 STA 3 WRLINK,2 7
00307'004741 JSR ISLICE 7 INIT SLICE COUNT?
00310'004747 WRO0S: JSR I.COUNT 5 INIT COUMT, SETPOSITION;
00311'020108e LDA 0 SDEV3 ;
003121123405 AND 1,0 SNR 7 IF DISC WRITE PROTECTED THEN
00313'000404 JMP WROS H BEGIN ILLEGAL;
314'024107 LDA 1 SILLE ; STATUS:=STATUS OR ILLEGAL(6)7
315'006417 JSre .LOGOR ; RETURN TO GIVEUP?
00316'000454 JMP GIVEUP ; END TLLEGAL;?
00317'025026 WR95: LDA 1 ADDRESS,2 7 FOR COUNT:= 128
00320'011026 187 ADDRESS,2 STEP =1 UNTIL 0 DO
00321'006174 GETBYTE H BEGIN !0UTCHAR DATA!
00322'006173 CONBYTE ; X:= GETBYTE (ADDRESS)?
20323'005060 JSR I0Db0B,2 ; DATA:= CONBYTE(X);
003241015027 nsSz COUNT, 2 H QUTCHAR(DATA);
00325'000772 JMp WR95 ? ADDRESS:= ADDRESS + 1;
; END !OUTCHAR DATAL
00326'020413 LDA 0 FDFB ;
00327'004711 JSR I.WRITE 7 INIT WRITE?
003301004732 JSR T.SLICE $ TEST SLICE COUNT?
00331'000757 JMP WROS ;+0t NOT FINISHED;
00332'003052 JMPe WRLINK,2 7+1t SLICE WRITTENS
7 END PROCEDURE WRITE?
‘ 7 STEPPING STONES NO, 13
00333'000164"' .READBLOCK: READBLOCK ; READ BLOCK;
00334'000114" ,LOGOR: LOGOR ;i STATUS:= STATUS OR (AC1);
00335'000123' ,STACHECK: STACHECK ;7 TEST STATUS?
00336'000007' ,POSITION: FDPOSITION; SETPOSITION(PHYSICAL BLOCK)?

7 CONSTANTS:

00337'000032 SB26: 26 # NN0. UF SECTORS PER TRACK;
00340'000370 FDF8: 7B10+3B12 7 HEX(F8):
00341'000373 FDFB: 7B10+3B12+38B15 7 HEX(FB)?
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00342'101122
00343'000404
00344'102400
00345'041055
00346'041030
003477102000
00350'041041

00351'102400
00352'041034
00353'006164
00354'000471
003551000411
003561004454
00357'004440
003607101222
00361'000403
00362'004724
00363'000412

364'004703
0365'000410

00366'004444
00367'004430
00370'0067453
00371'000404

00372'035025
00373'021410
00374'041026

000000
N0375'005076
003741035025
20377'021042
00400'101400
00401'041411
00402'021034

403'176400

404024102
00405'107404
N0406'055055
20407'024115
00410'107404
00411'024113
00412'124000
00413'123400
00414'025055
00415'006165

00416'000733

7 DRIVER START AND BREAK:

FDo1e: MOVZL 0,0 SZC
JMP FDOS
SuB 0,0
STA 0 FDDISP,?2
STA 0 RESERVER, 2
FD0OS: ADC 0,0
STA 0 TRACK,2
? START OF PROGRAM:
FD10: SUB 0,0
STA 0 FDSOFT,2
NEXTOPERATION
JMp FDCON
JMp FDINP
JSR GETSLICE
JSR GETBLOCK
MOVZR 0,0 8Z¢C
JMp FD11
JSR WRNORMAL
JMP FDEND
FD11: JSR WRCHECK
JMP FDEND
FDINP:JSR GETSLICE
JSR GETBLOCK
JSRe ~READBLOCK
JMp FREND
GIVEUILDA 3 RUF,2
LDA 0 MESS2,3
STA 0 ADDRESS, 2
FDEND:
JSR IONIOP,2
1LDA 3 BUF,2
1.DA 0 BLOCK,?2
INC 0,0
STA 0 MESS3,3
LLDA 0 FDSOFT,?2
SUB 3,3
L.DA 1 SOFFL,
AND 0,1 SZR
STA 3 FDDISP,?2
LDA 1 .1B12
AND 0,1 SZR
LDA 1 SPARITY
COM 1,1
AND 1,0
LDA 1 FDDISP,2
RETURNANSWER
JMP FD10
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WRITE/READ:

GIVEUP:
{ I.E,

IF POWER BREAK THEN
REPEAT THE LAST OPERATION;
TRACK DISPLACEMENT:=
CURRENT RESERVER:= 032
TRACK ADDRESS:= UNDEFINED;

03

BEGIN DRIVER ENTRY;

STATUS:= 03
WATIT OPERATION;
CONTROL?
INPUT:
OUTPUT: GET THE SLICE SIZE;
TEST FOR RANDOM OPERATION;
IF OPERATION = WRITE/READ THEN
GOTO WRITE/READ ELSE
WRITE NORMAL:
RETURN ANSWER;

WRITE/READ;
RETURN ANSWER;

GET THE SLICE SIZE:

TEST FOR RANDOM OPERATION;
READ POSITIONED BLOCK?
RETURN ANSWER;

BYTE COUNT := 07
ADDRESS,CUR:=
MESSe2 . BUF !

RETURN ANSWER:

CLEAR DEVICE:;

MESS3.BUF:=
BLOCKCOUNT + 17

TF STATUS(OFFLINE) THEN

TRACK DISPLACEMENT:= 07

IF STATUS(POSITION) THEN

MASK:= =,PARITY ELSE

MASK:= ALL ONES;

STATUS:= STATUS AND MASK:

FILECOUNT:= TRACK DISPLACEMENT;

RETURN(MESSO0.BUF = STATUS,
MESS1.BUF = BYTECOUNT,
MESS2.BUF = FILECOUNT(

TRACK DISPLACEMENT),

MESS3,BUF = BLOCKCOUNT);

GOTO DRIVER ENTRY?
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; PROCEDURE GETBLOCK(QPERATION);
# IF OPERATION B(15) THEN BLOCKCOUNT.CUR:= MESS3.BUF =~ 1}
¢ THE INTENDED USE IS FOR RANDOM OPERATION, YET "SETPOSITION"
: USES THE PROCEDURE TOO,
: ENTRY GETBLOCK:
5 AC CALL RETURN
] OPERATION OPERATION SHIFT (=1)
| - IF OPERATION B(15) THEN
H MESS3.BUF ELSE UNCHANGED,
P2 CUR CUR
:P 3 LINK MESS2,BUF
¢ FDMODE,CUR OPERATION SHIFT (=1)
14
000000 GETBLOCK: 3 PROCEDURE GETBLOCK;
004171055082 STA 3 NRLINK,2
00420'035025 LDA 3 BUF,2 ;
004211'101223 MOVZR 0,0 SNC 5 BEGIN ! GETRLOCK !
00422'000408 JMp FDpO1 H IF CURRENT OPERATION B(15) THEN
4231025411 L.DA 1 MESS83,3 H BLOCKCOUNT(INTERNAL):=
ag24' 045042 STA 1 BLOCK, 2 ; MESS3,BUF = 13
00425'015042 DSZ BL.OCK,2 ;
0426000401 JMp e+l 7 OPERATION,CUR:=
D0d27'041036 FDP0O1:STA 0 FDMODE,2 CURRENT QOPERATION SHIFT (=-1)7¢
00430'035410 LDA 3 MESS2,3 ;
20431'003052 JMPe WRLINK,2 ; END IGETBLOCK!
? PROCEDURE GETSLICE(COUNT):
¢ CA{LCULATES THE SLICE SIZE: SLICE:= COUNT//128;
$ IF COUNT MOD 128 <> (o THE STATUS(BLOCKERROR)
¢ IS SET, BUT THE OPERATION IS CONTINUED?
:
? ENTRY GETSLICE:
5 AC CALL RETURN
7 0 OPERATION UNCHANGED
- | BYTECOUNT DESTROYED
;2 CUR CUR
. ;3 LINK LINK
14
000000 GETSLICE: ; BEGIN GET SLICE SIZE;
00432055052 STA 3 WRLLINK,2
00433'041036 STA 0 FOMODE,2 &
po4s4r121000 MOV 1,0 ;
004351024111 LDA 1 .128 H SLICE sIZE:=
0436006177 DIVIDE ; BYTECOUNT//128;
00437'024111 LDA i SRL.0C ;
N0440'175%004 MOV 3,3 SZR 7 IF BYTECOUNT MOD 128 <> 0 THEN
004411006673 Jsre .LLOGOR ; STATUS(BLOCKERROR)?
004421041044 STA 0 SLICE,2 H
00443'021036 LDA 0 FOMODE,2 3
14

004441007052 JSRe WRLINK, 2 END GET SLICE SIZE;
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7 CONTROL: BEGIN CONTROL;

~e

00445'006171 FDCON:SETRESERVATION 7 SETRESERVATION:
J0d4de6'006172 SETCONVERTION # SET CONVERTION ADDRESS?
004471101220 MOVZR 0,0 7 TERMINATION: NOT USED
00450'101223 MOVZR 0,0 SNC 7 POSITION: IF NOT POSITION THEN
N0451'000412 JMP CON4Q ; GOTO ERASE?;
00452101100 MOVL 0,0 ;
00453'004744 JSR GETBLOCK ¢ BLOCKCOUNT:= GETBLOCK(POSITION);
Dods4v174512 NEGL# 3,3 8ZC 7 IF FILECOUNT <= 0 THEN
D04S5'000406 JMP CON4O ; BEGIN IREDEFINE TRACK!
N0456'160400 NEG 3,0 H
004571024660 LDA 1 SBeeé H
00460'006177 DIVIDE ; DISPLACEMENT:=
004611041055 STA 0 FDDISP,2 - (MES82.BUF (FILECOUNT))//26;
N0462'021036 LDA 0 FDMODE,2 END IREDEFINE TRACK!
00463'101220 CON40:MOVZR 0,0 7 ERASE:
N0de4a'101222 MOvZR 0,0 SZC 7 IF ERASE THEN
Q0465'004613 JSR WRERASE ; ERASFE BLOCK;
’Mb&'OOéblﬂ JSRe .STACHECK 7 SENSE STATUS; ALL CONTROL COMM.;
00d467'000706 JMP FDEND 7 RETURN ANSWER;

’

END CONTROL;
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000061

00470'000000
00471'000000
00472'000000
00473'000100
004741043104
004751030000
00475'000000
0047770004771
00500'000477"
00591'000000
00%02'000000°!
005031000000
00504'000000
20505'100000
20506'000342°
> 07'0000C00
M510'000000
005111000470
00512'000470"
00513'000704"
00514'000000

305157000000
005161000000
00517'000000
00520'000000
00521'000000
00522'100166

; PROCESS DESRIPTOR

DEVNO=

DEO:

«TXT
0<0>
<0>,

49

-

0

0

0
FD02=DEOD
.FD

_e " w3 wa

7 NAME OF PROCESS

; OPTIONAL WORDS

NEO+EVENT i
DEO+EVENT ;
0 i
FDOO ;
0 7
0 ;
180 ;
FDO1 ;
0 H
0 i
DEO ;
DEO H
FDO1x2 ;
0 7 SAVE H
0 FBUF 7
0 s ADDRESS ;
0 COUNT ;
0 fRESERVER}
Q PCONVT v
CLEAR 7

DEVICE NUMBER

EXT PROCESS IN THE QUEUE
PREV, PROCESS

NEXT PROCESS IN CHAIN
PROCESS DESCRIPTOR SIZE

FIRST EVENT

LAST EVENT

FIRST MESSAGE BUFFER
PROGRAM ADDRESS

PROCESS STATE

TIMER COUNT

PRIORITY:= DRIVER

BREAK ADDRESS

SAVED ACO

SAVED AC}

SAVED ACZ2

SAVED AC3

PROCESS STATUS WORD (PSW)
WORK USED BY MONITOR UTILITIES

MESSAGE BUFFER ADDRESS

CUURRENT BYTE ADDRESS OF SHARE
CURRENT VALUE OF COUNT

RESERVER

CONVERTION TABLE ADDRESS
STANDARD INTERRUPT CLEAR ADDRESS
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000033
005231000000
000034
00524000000
000035
005251000061
000036
005261000000
000037
005271000000
000040
00530'000000
000041
00531'177777
000042
005321000000
000043
005331000000
000044
005341000000
000045
105351000000

000046
00536000000
000047
00537'000000
000050
00540'000000
000051
N0541'000000
000052
N0R42'000000
000053
00543000000
000054
00544000000

000055
205451000000

# OTHER OPTIONAL WORDS

TR.SYNC= ,=DEO
FDSOFT= ?-DEG
DEVICE= ?-DEO
DEVNQ
FOMODE= .=DEO
FDCOMMAND:?-DEO
SECTOR= ?—DEO
TRACK= ?-DEO
BLOCK= :iDEQ
FDBLOCK= ?-DEO
SLICE= ?-DEO
FOSLICE= ?*DEO
0
I.TLINK= ,.=DEQ
I.SLINK= ?-DEO
POLINK= ?-DEO
STALINK= ?-DEO
WRLINK= ?-DEO
RELINK= ?-DEO
RESEM= ?—DEO
0
FDDISP= B-DEO

;CUR+27:
FCUR+28;
H

”
r

- ‘wa ALl -e e ~8

.8 me

. -e ~e e e

~e

-t w3 we we

~e
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LAST READ(TRACK<8+SYNC.BYTE)
UNMODIFIED STATUS
DEVICE ADDRESS
CURRENT MODE BITS
I0=-COMMAND EXCL, (FDUNIT)
CALC, SECTOR NO,
CALC, TRACK NO.j;=1 => UNDEFINED
LOGICAL BLOCKCOUNT (=MESS3,BUF = 1)
PHYSICAL BLOCKCOUNT (INTERNAL)
SLICE SIZE = BYTES//128

SLICE COUNT:
DECREMENT

FOR EACH PHYSICAL BLOCK
FROM SLICESIZE TO ZERO

RETURN(LOCAL TRANSPUT)
RETURN(SLICE COUNT TEST)
RETURN(POSITION)
RETURN(TEST STATUS)
RETURN(WRITE,ERASE)
RETURN(READBLOCK, WRITE/READ)
COMMAND SPECIFICATION;

USED BY "STACHECK";

IF =1 THEN LAST COMMAND=READ BLOCK
ELSE ANY OTHER COMMAND;

TRACK DISPLACEMENT, USED FOR
DISCETTES WITH DELETED TRACKS;
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000056
005461061161
00547'001400

000060
005501062061
D0551'001400

000062
00552'063061
00553'001400

000064
005541062461
00555'041033
00556'001400
Q; 000067
we571061461

00560'001400

000071
n0561'064461
00562'001400

000073
00563'061061
005641001400

000075
005651060261

000076

N0566'060361
205671001400

006000

000470

DEVNOQO
+0,3

DEVNQ
+0,3

DEVNO
+0.3

DEVNO
TR,SYNC,2
+0,3

DEVNO
+0,3

DEVNOD
+0,3

DEVNQ
+0,3

DEVNO

DEVNOD
+0,3

i ROUTINES INPUT/OUTPUT:

H

I0ODCAS= .~DEO
DOAS 0
JMP

I0DOB= «.=DED
pos 0
JMP

H

10D0C= «.=DEO
DOC 0
JMP

I0DIC= .=DEO
DIC 0
STA 0
JIMP

I0DIR= .=DEO
DIB 0
JMP

I0DIA= .=DEO
DIA 1
JMP

I0spEC= .=DEO
DOA 0
JMP

;

TOCLEAR= .=DEO
NIOC

;

IONIOP= .~DEO
NIQP
JMP

;

FDoz2:

; * Kk Kk k END

LEND DEO

OF FLOPPY
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DISC DRIVER

CONTROL COMMAND:
START DEVICE (COMMAND);

RETURNCLINK)?

OUTCHAR?

QUTCHAR(CHAR,DEVNO);

RETURN(LINK)?
OUTSYNC:

OUTSYNC(FIELD

RETURNCLINK)?

INSYNC:

INSYNC(TRACK<8 + SYNC, BYTE,DEVNO);
FOR SERVICE ONLY?;

SAVE,
RETURNCLINK)

INCHAR:

SYNC,

INCHAR(CHAR,DEVNGO)?

RETURNC(LINK);

SENSE NORMAL:
SENSE(STATUS);
RETURN(LINK);

BYTE,DEVNO);

REDEFINE TRACK ADDRESS:
LOAD THE TRACK ADDRESS;

RETURN(LINK);

CLEAR ALL:

CLEAR(DONE,BUSY)?

PULSE?®
CLEAR BUFFER;
RETURN(CLINK)?

END OF pPROCESS

DESCRIPTOR?

hkkk Kk k



BLOCK
CON4O
DEO
DEVIC
DEVNN
FDOO
Fooil
Fpog
FDos
FD10O
FD11
FDRLON
FbOCOM
FDCON
FDODIS
FDEND
FDEXFE
FDFb
FDOFRB
FDINP
FDOMOD
FDPO1
FDPOS
F I
FOSOF
FDTIM
GETRL
GETSL
GIVEU
HARD1
HARD?
HMASK
I0CLE
I0DTIA
I0DIR
IoNnIC
I0oD0A
I10H08
Ioboc
IONID
IOSPE
ISLIC
I.!)
T.REA
I,8L1
I,TLT
I.HRY
LOGOR
POLIN
POSOS
POS10
POS11
POS16
pPos20
POS26
POSER
RBOQ
RBNS
RBP2
KB2 4

0oo0Q4e
000463
000470
000035
000061
000000
0003427
000570
000347
000351
000364)
000043
000037
000445
000055
000375
000102!
000340
noo3at?
000366!
000036
000427
000007
000045
000034
000154
000417
000432
000372"!
000156
0001R5!
000163
000075
000071
000067
000064
000056
000060
00006K2
000076
000073
000250"
000257!
000231
000047
N000de
ooo0240"
000114
000050
000025
0000361
000050
N0o062!
000065
000075
000100
0060165
000166!
000206
000215



RB26

RB30

READB
RECAL
RELIN
RESEM
SB26

SECTO
SLICE
STal

STAS

STACH
STALT
TRACK
TRSEA
TR.SY
T.SLI
WROS5

WROS

WRCO5
WREN-
WRERA
WRITE
WRLIN
WRHNOR
.2002
«GTVE

LLOGO"

.POSI
- POSN
LREAD

000221
000z24?
000164
000107
000053
0000584
000337!
nogo40
000044
o0014s5?
noo01de!
000123"
000051
060041
000077
000033
000262"
000310
000317
000274
0onz2eT!
000300
000110
000052
N00306!
000076!
eco101?
nQ0334"
000336
000124
N00333!
000335



